Lecture 05: Induction and Fibonacci
Wednesday, August 10, 202 113 PM
with the Fibonacci sequence and formulable the following conjecture:

$$A^{n} = \begin{bmatrix} F_{n-1} & F_{n} \\ F_{n} & F_{n+1} \end{bmatrix} for every positive integer n.$$
Theorem. Suppose For, Fr, ... is the Fibonacci sequence and

$$A = \begin{bmatrix} 0 & 1 \\ 1 & 1 \end{bmatrix}$$
. Then, for every positive integer n,

$$A^{n} = \begin{bmatrix} F_{n-1} & F_{n} \\ F_{n} & F_{n} \end{bmatrix}$$

$$A^{n} = \begin{bmatrix} F_{n-1} & F_{n} \\ F_{n} & F_{n+1} \end{bmatrix}$$

$$A^{n} = \begin{bmatrix} F_{n-1} & F_{n} \\ F_{n} & F_{n+1} \end{bmatrix}$$

$$Base of induction. We have to show that qx holds for n=1.$$
The left hand side is $A = \begin{bmatrix} 0 & 1 \\ 1 & 1 \end{bmatrix}$, and the base of induction follows.
Induction step. Suppose for a positive integer k,

$$A^{k} = \begin{bmatrix} F_{k-1} & F_{k} \\ F_{k} & F_{k-1} \end{bmatrix}$$

$$A^{k-1} = \begin{bmatrix} F_{k} & F_{k-1} \\ F_{k} & F_{k-2} \end{bmatrix}$$

$$We have to show that
$$A^{k+1} = \begin{bmatrix} F_{k} & F_{k-1} \\ F_{k} & F_{k-2} \end{bmatrix}$$

$$A^{k+1} = A \cdot A^{k} = \begin{bmatrix} 0 & 1 \\ -1 \end{bmatrix} \begin{bmatrix} F_{n-1} & F_{k} \\ F_{k} & F_{k-1} \end{bmatrix} = \begin{bmatrix} F_{n} & F_{n+1} \\ F_{k} & F_{k-1} \end{bmatrix}$$

$$E^{k+1} = A \cdot A^{k} = \begin{bmatrix} 0 & 1 \\ -1 \end{bmatrix} \begin{bmatrix} F_{n-1} & F_{k} \\ F_{k} & F_{k-1} \end{bmatrix} = \begin{bmatrix} F_{n} & F_{k-1} \\ F_{k} & F_{k-1} \end{bmatrix} = \begin{bmatrix} F_{n} & F_{k-1} \\ F_{k-1} & F_{k-1} \end{bmatrix}$$$$

Lecture 05: Induction and Fibonacci
Monday, October 10, 2016 9:12 AM
Corollary For every positive integer
$$n$$
,
 $F_{n+1} \cdot F_{n-1} - F_n^2 = (-1)^n$
where F_0 , F_1 ,... is the Fibonacci sequence.
Proof. By the previous theorem,
 $A^n = \begin{bmatrix} F_{n+1} & F_n \\ F_n & F_{n-1} \end{bmatrix}$,
 $ashere A = \begin{bmatrix} 0 & 1 \\ 1 & 1 \end{bmatrix}$. So
 $det (A^n) = det \begin{bmatrix} F_{n-1} & F_n \\ F_n & F_{n-1} \end{bmatrix}$. (b)
Because $det(XY) = det(X) det(Y)$ for every two 2-by-2 motives
X and Y, $det(A^n) = det(A^n)^n$ for every positive integer n . Hence,
by (ω) , we obtain
 $det(A)^n = F_{n+1} \cdot F_{n-1} - F_n^2$.
Since $det A = det \begin{bmatrix} 0 & 1 \\ 1 & 1 \end{bmatrix} = -1$, we obtain that
 $(-1)^n = F_{n+1} \cdot F_{n-1} - F_n^2$.
Notice that for every positive integers m and n , we have
 $A^m \cdot A^n = (A - \dots A) \cdot (A - \dots A) = A^{m+n}$. By the previous theorem,
 $m = threes$

Lecture 05: Induction and Fibonacci

Monday, October 10, 2016 9:20 AM

we have $A = \begin{bmatrix} F_{m-1} & F_{m} \\ F_{m} & F_{m+1} \end{bmatrix}, A = \begin{bmatrix} F_{n-1} & F_{n} \\ F_{n} & F_{n+1} \end{bmatrix}, and A^{m+n} = \begin{bmatrix} F_{m+1} & F_{m+1} \\ F_{m} & F_{m+1} \end{bmatrix}.$ Hence, $\begin{bmatrix} F_{m-1} & F_m \end{bmatrix} \begin{bmatrix} F_{n-1} & F_n \end{bmatrix} = \begin{bmatrix} F_{m+n-1} & F_{m+n} \end{bmatrix}$ $\begin{bmatrix} F_m & F_{n+1} \end{bmatrix} \begin{bmatrix} F_{m+n} & F_{m+n+1} \end{bmatrix}$ Comparing the (2,1) entries, we conclude that $F_m F_{n-1} + F_{m+1} F_n = F_{m+n}$ Altogether we have the following result. Corollary For every positive integers m and n, $F_{m+n} = F_m F_{n-1} + F_{m+1} F_n$ where Fo, F1, ... is the Fibonacci sequence. The following is an interesting property of Fibonacci sequences. Theorem. Suppose m and n are positive integers. Then, m In implies that Fm | Fn where Fo, F1, ... is the Fibonacci sequence. Proof. Notice that m/n exactly when n=md for some integer d. Since m, n >0, d>0. Hence it is enough to show that for every

Lecture 05: Induction and Fibonacci Monday, October 10, 2016 9:30 AM positive integer d, Fm | Fmd (where m is a fixed positive integer). We use induction on d. Base of induction. d=1. We have to prove F_m/F_m , which is clear as $F_m = F_m \times 1$. The induction step. Suppose for a positive integer k, Fm |Fmk induction hypothesis We have to show that $F_m(R+1)$. $F_{m(k+1)} = F_{mk+m}$ $= F_{mk} F_{m-1} + F_{mk+1} F_{m}$ $F_{r+s} = F_{r} F_{s+} + F_{r+1} F_{s}$ $F_{r+s} = F_{r} F_{s+} + F_{r+1} F_{s}$ $F_{r+s} = F_{r} F_{s+} + F_{r+1} F_{s}$ By the induction hypothesis, Fm | Fmk. This means $F_{mk} = F_m \cdot a$ for some integer a. Hence, $F = F \cdot a \cdot F_{m-1} + F_{mk+1} F_{m}$ $= F_m \left(a \cdot F_{m-1} + F_{mk+1} \right).$ Thus $F_m(F_m(k+1))$ is an integer Notice that $F_3=2$ implies F_{3k} is even for every positive integer k, and $F_4 = 3$ implies $3 | F_{4k}$ for every $k \in \mathbb{Z}^+$.

Lecture 05: Induction and Fibonacci Monday, October 10, 2016 9:39 AM These statements are not trivial, either. Here are two other remarks: Remark 1. The converse of the above Theorem is also correct: $F_m | F_n \Rightarrow m | n.$ Later in the course, we discuss Euclid's algorithm to find the greatest common divisor of two integers. That can be used to show $gcd(F_m, F_n) = F_{gcd(m,n)}$. This, in particular, implies the mentioned converse proposition. Remark 2. A sequence which is defined as follows $\chi_{n+1} = \alpha \chi_n + b \chi_{n-1}$ is called a linear recursive sequence. And if $x_0=0, x_1=1$, then similar statements as above hold for x.

Lecture 05: Strong induction Wednesday, August 10, 2022 So far to find F₅₀, we need to compute all F₀, F₁, ..., F₄₉. Can we compute F50 directly (or at least can we say how large it is?) To do so, we have to work with a stronger form of the induction principle that we call the strong induction principle. In the induction step, we only use the previous step to go to the next. In the strong induction, we go to the next step using <u>all</u> the previous steps. Strong induction principle To prove, for every integer $n \ge n_o$, Pcn holds, it is enough to show (Base of strong induction) Pcn., holds. (Strong induction step) Suppose for an integer $k \ge n$, the following holds: for every integer n <l<k, P(l) holds. (referred to as the strong induction hypothesis) Then P(k+1) holds. strong induction Suppose P(n) fails for No No+1 No+2 m_-1 some value. Let mobe \checkmark \checkmark \checkmark \checkmark the smallest number where Pon fails. Then a contradiction. Base Case

Lecture 05: Strong induction and Binet

Wednesday, August 10, 2022 9:39 PM

We understand the strong induction better by using it! Our first example is on finding a formula for the n-th term of the Fibonacci sequence. Before focusing on the Fibonacci sequence, let's consider all the sequences that are given by the same recursive formula: $\chi_{n+1} = \chi_n + \chi_{n-1}$. Can we find any explicit sequence which satisfy this recursive formula? Let's examine a sequence of the form $x_n = c^n$ for some complex number c. Can we find c such that $C^{n+1} = C + C^{n-1}$ for every positive integer n? Notice that $C^{n+} = C^{n} + C^{n-1} \iff \frac{C^{n+}}{C^{n-1}} = \frac{C^{n} + C^{n-1}}{C^{n-1}}$ $\leftarrow c^2 = C + 1$ \Leftrightarrow C is a zero of $\chi^2 - \chi - 1 = 0$. Let's recall that $\chi^2 - \chi - 1 = 0 \iff \chi^2 - \chi + \frac{1}{4} = \frac{5}{4}$ $\iff (\chi - \frac{1}{2})^2 = \frac{5}{4}$ $\Leftrightarrow a = \frac{1+\sqrt{5}}{2}$ and $b = \frac{1-\sqrt{5}}{2}$ are the only zeros of $\chi^2-\chi-1=0$. $\frac{1+\sqrt{5}}{2}$ is called the golden ratio, and it appears in different places.

Lecture 05: Strong induction and Binet Wednesday, August 10, 2022 9:54 PM Side note on golden ratio. Since $a^2 = a + 1$, we have $a = 1 + \frac{1}{a}$. So if we start with an a-by-1 rectangle and cut a 1-by-1 square we are left with a 1-by- 1/2 rectangle, which is similar to the original rectangle. So use can repeat this process. (You might have seen this figure.) So far we showed that a = a + a and b = b + b for every positive integer n if $a = \frac{1+\sqrt{5}}{2}$ and $b = \frac{1-\sqrt{5}}{2}$. Notice that for every numbers x and y, we have $(xa^{n}+yb^{n}) + (xa^{n-1}+yb^{n-1}) = x(a^{n}+a^{n-1}) + y(b^{n}+b^{n-1})$ $= \chi a^{n+1} + \chi b^{n+1}$ This means the sequence $\chi a^2 + \gamma b^2$, $\chi a^1 + \gamma b^1$, $\chi a^2 + \gamma b^2$, ... satisfies a similar recursive formula as the Fibonacci sequence. Next we give x and y such that $F_n = x a^n + y b^n$ for every non-negative integer n.

Lecture 05: Strong induction and Binet Wednesday, October 12, 2016 9:22 AM Theorem (Binet) For every non-negative integer n, we have $F_n = \frac{1}{\sqrt{5}} (a^n - b^n)$, where $a = \frac{1+\sqrt{5}}{2}$ and $b = \frac{1-\sqrt{5}}{2}$ Proof We use strong induction on n. Base of strong induction. We have to show $F_0 = \frac{1}{\sqrt{5}} (a^\circ - b^\circ)$. The left hand side is 0 and the right hand side is $\frac{1}{\sqrt{5}}(1-1)=0$. Strong induction step. Suppose for a non-negative integer k the following holds: for every $0 \le l \le k$, $F_l = \frac{1}{\sqrt{n}} (a^l - b^l)$. We have to show $\overline{F}_{ktl} = \frac{1}{\sqrt{5}} (a^{k+l} b^{k+l}).$ We know that $F_{k+1} = F_k + F_{k-1}$ if $k \ge 1$. So we consider two cases. Case 1. k=0. In this case, we have to show $F = \frac{1}{\sqrt{5}} (a-b)$. The left hand side is $F_1 = 1$, and the right hand side is $\frac{1}{\sqrt{5}} \left(\frac{1+5}{2} - \left(\frac{1-5}{2} \right) \right) = 1.$ Case 2. kZ1.

Lecture 05: Binet, strong induction

Thursday, October 13, 2016 2:11 AM

In this case $F_{k+1} = F_{k} + F_{k-1}$ $=\frac{1}{\sqrt{5}}\left(a^{k}-b^{k}\right)+\frac{1}{\sqrt{5}}\left(a^{k-1}+b^{k-1}\right)$ by the strong induction hypothesis $=\frac{1}{\sqrt{5}}\left(a^{k}-b^{k}+a^{k-l}-b^{k-l}\right)$ $= \int_{\overline{a}} (a_{+}^{k} a_{-}^{k}) - (b_{+}^{k} b_{-}^{k}) \Big]$ As we have mentioned earlier, ata = a and b+b = b (because a and b are zeros of $\chi^2 - \chi - 1 = 0$). Hence $F_{k+l} = \frac{1}{\sqrt{5}} \left(a^{k+l} - b^{k+l} \right).$